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         Topic: Identifying Sentence Errors           Chapter: Errors in Grammar and Usage 1
Subject Verb Agreement is important in a sentence. The nouns and verbs must agree in number. Singular/ plural nouns must be accompanied by corresponding singular/plural verbs. This section is very important in Identifying Sentence Errors Section of the SAT Examination. For example: 

We could see by his brazen attitude that he were impenitent.

Since the subject is singular the verb should be also singular – ‘was’ instead of ‘were’.  

The following exercise focuses mainly on noun/verb/adjective agreement.

Practice Questions
Q1.

The scholarship cover his major expenses at college and some of his incidental expenses as well. 

                             A                           B                                           C                                        D

No error.
      E

Answer: A

Explanation: Since the noun ‘scholarship’ is singular the verb should be ‘covers’.

Q2.

The merchant thought of his competitors as interlopers who was stealing away his trade. No error.
                           A                         B                                         C                               D              E

Answer: C

Explanation: Since the noun ‘competitors’ is plural the verb should be ‘were’.

Q3.

What to Watson had been a knotty problem, to Sherlock Holmes was simplicity itself. No error.
                                 A                          B                                          C                      D           E

Answer: E

Explanation: There is no error.

Q4.

Many animals displays maternal instincts only while their offspring are young and helpless. No error.
   A                       B                          C                                   D                                                     E

Answer: B

Explanation: Since the noun ‘animals’ is plural the verb should be ‘display’.

Q5.

During these very trying period, she could not have had a better mentor, for the teacher was 

               A                          B                               C                                                              D

sympathetic and understanding. No error.
                                                         E

Answer: A

Explanation: Since the noun ‘period’ is singular the adjective should be ‘this’.

Q6.

The city of Pompeii were destroyed by volcanic ash rather than by molten lava flowing from Mount 

         A                        B                                                 C                                          D

Vesuvius. No error.

                      E

Answer: B

Explanation: Since the subject ‘city’ is singular the verb should be ‘was’.
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